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State Sampling theorem.
Mention the merits of DPCM.

u.,.,,...r..,'.".'',1

.jt$..ri: ,.--.---.. ,

'",..,"r. I il

communication system and explain each

J-""r, 1",. 
-'"

,tr .,'f 1. ,...,,.1

.'..,..., j

-r" 
"''\

.'iP,,;:

codeNo: l26zN 
r^rLY r mJAWAIIARLAL NEHRU TECENOLOGICAL UNTYERSITY IIYDERABAI}

l-.-. i"..1 i^". 
B' Tech rrr Year II Semesterr*aminaqgnqra;; -i;i;'_*;, ;.,,,:. . ^.,: ;li uierral,-e_SirMtNftIgg*, r i...,1 : ....,. ,....\

Time: S.tioo., 
. ,.1*r!"Ectrrotric3 and Co.mrii.iihication {*bo6dfinel ,_... 

-1 
_-,., r_i

Note: This question paper contains two parts A and B.
Part A is compulsory which carries zs marts answer all questions in part A. part Bconsists of 5 units' Answer any one- full questior-r.o* each unit. Each question carriesi 

" ": 
l0"+rf.tr, and may.have.q, b, c as sub,questior.. 

- -.

i.*',r'' ;r-*; ,"....,,...i 

", 

n: ,.:..::-' 
r ee'.ljr;vt""'1'""' 

- -. .- ,""""-, t"" ", i,-\: ', i,....."i :-"1 :.:'-, ,..-,;' ,,:"''' 
': 

.^.-' 
----' ';t-1

i*anfio i 
"--r 

.. "" ;,: -"",: t"'.);

i.---,..' )-"{
': ''.. i l

(25 Martrs)

.:, \.

1",;:

':)...','

i""',
:1

:\,
i..i...'rj

' i r 'i

.1r-':i. ;....-.--..;

L......; ; ''i

.:r*r:

1.a)
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the necessiry of adaptive 
"fi1;;;;vqrsrr"*''rdYrY,lrllr meant !y systematic and non-ry.i"*atic codes?

What is meant by linear code?
Define spread spectrum communication.

Yl,t1 it ..l'tqu.r.| !,oR. ;p..ryad sp ectrum 
.m odu I ation ?

;" ,1" ,......", i-,t , i* .) I 'i i"'-, ;-*"'I -: r*', 1__) 
'-"; ::i$nrir i'"; ,^- !-"i.

2.a)

b)

(50 Marks)

block in

Is+5]-'-\,
--',.,,:j

4.?) Exprain with neat diagram BFSK transmitter and receiver.b) Give a comparison befween FSK and psK schemes.
.,R 
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[6+41
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,5.11 Explain coherenr ASK. and non coJrerent ASK schemes. . .

:....b)DrawadiagramofDFSKtra";*iu;;.'"I+vl\Jwr,wl,,'',
6'a) Explain how the residual effects of the channel are responsible for rir.b) Explain about three tap reset equalizer.
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7.a) What is nyquisr pulse shaping?
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Explain PN sequences generation and characteristtcs'
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What is a oonvolutional cods? How is it generated?

Explain in detail '"'ffi;;;;i;;Jt;-*fti 
a suitable example'

TnE parity ctreckib-i* of3n (8' 4) b:}-"-$'{r::.9F are sep-e'.1at9d-hv

[5+ fr[-=fd2+d4 . -.j 
'-'t;. l'.': '' ''

iO= at+hz+al
g7= 61+d3+d4
gg= dt+d3+d4
Where dl,dzd3 and d4 are message bits' Find

a) The generator *'*' 
";;;;tity 

int* matrix for this code'
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n i*in. uroct oiagtam of a spredd speotrum system'

Explain Frequency 
-hopping 

spread *t;,T*
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